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&5 MERPAE (STD) FRAFAKR (AHRE)

XMRPE (STD) ESABIFIESR
s 18 | 2R |38 | 4R | 5A | 6A | 1A | 8A | 9A | 108 | 1A | 12A | & |'BEH
HBRITIDTRELIE 24 18 17 18 12 23 13 17 33 32 14 15 236 337
g [EBRALRZRD AV RERE 1 5 6 6 10 8 7 8 6 14 12 10 103 147
29% REIDTO—T 6 8 5 1 4 3 5 5 8 6 2 6 59 8.4
R RE 4 3 2 4 8 11 4 8 1 8 8 7 78 1.1
BRI TIOTRERIE 25 13 24 18 20 22 21 20 24 20 28 13 248 35.4
g [EBRALRZRD AV RERE 6 15 10 5 9 4 1 16 5 10 7 1 109 15.6
305 REIDTOA—T 8 3 0 3 3 3 4 4 7 4 8 4 51 7.3
R RRRE 13 5 13 6 8 10 5 13 4 3 4 0 84 12.0
BRI TIOTRERIE 20 19 16 13 17 30 23 25 22 24 27 21 257 36.7
70 [EBEAN LR AV RERE 1 9 1 19 1 14 14 10 17 19 13 8 156 223
T REIDTOA—T 4 5 6 2 5 2 5 5 3 7 6 1 51 7.3
R RE 4 4 5 2 7 5 3 10 3 5 2 5 55 7.9
BRI TIOTRERIE 29 19 26 16 19 19 15 13 22 24 14 20 236 337
70 BRIV RERE 17 14 3 15 12 13 19 9 9 13 9 8 141 20.1
24 REIDTO—YT 5 6 3 3 5 6 3 6 3 4 8 2 54 7.1
R RRRE 8 9 8 4 4 9 1 11 4 1 3 4 76 10.9
BRI TIDTRERIE 22 25 23 25 15 21 22 21 17 24 18 20 253 36.1
70 [HEBEALRZRD AV RERE 14 5 6 7 15 15 14 6 6 19 21 1 139 19.9
34 REIDTO—T 3 3 2 1 4 4 6 6 3 4 2 5 43 6.1
R RRRE 6 3 9 5 2 1 7 9 10 5 3 4 64 9.1
HEBRITIDTRERIE 20 20 13 26 21 24 15 27 27 14 26 19 252 36.0
70 [HEBEANLRZRD AV RERE 1 12 13 1 14 19 8 6 13 8 6 8 129 18.4
a5 REIDTO—T 3 2 2 3 3 1 6 4 7 3 4 0 38 5.4
R RRRE 3 3 12 8 5 3 12 9 8 4 13 1 81 11.6
6 MEREEE (STD) M3 - X A FE A KR (A 3Rk
I X |
il S B N I A
HRITIOTREIE 236| 171 65 55 1 170
Fpg [EBRANILARRD AV RRERE 103 70 33 22 6 75
2% [px0von—v 59 33 26 10 5 44
RERRRE 78 61 17 19 7 52
HERITIOTREEIE 248 169 79 80 13 155
Tk |ERANINRRI AV RBRLAE 109 70 39 32 4 73
30F (4o on—v 51 33 18 8 4 39
R RERE 84 62 22 38 9 37
HERITIOTREIE 257 171 86 60 16 181
70 [EBRANARRD AV RBERE 156 98 58 44 6 106,
TF (g vn—v 51 35 16 16 3 32
R RERE 55 45 10 14 1 40
HRITIOTRRIE 236 156 80 66 9 161
70 [EBRANARRD AV RBERE 141 87 54 33 6 102,
2F |pgavon—v 54 29 25 11 3 40
R RERE 76 61 15 26 6 44
HERITIOTREIE 253 169 84 63 8 182,
70 [EBRANARRD AV RBRE 139 88 51 32 5 102,
3F |pzavon—v 4 2 17 4 3 36
R RERE 64 56 8 13 1 50
HERITIOTREIE 252 167 85 57 1 184
70 [EBRANARRD AV RBERE 129 78 51 46 10 73
AF |lpxavon— 38 2 12 12 3 23
R RERE 81" 67 14 14 6 61
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R MHRRIE (STD) M BERD S (AHE)

% B 4 1~48% | 5~98% |10~14%%[15~19%%|20~248% |25~ 20%|30 ~ 3455 |35~ 39% [40 ~ 44 5| 45~ 491% |50~ 54 % | 55 ~ 59560~ 641% |65~ 695 7045 L1 b

BRI TIDTRELIE 0 0 0 17 49 48 38 26 25 12 7 10 2 2 0
T [EBANILARRD AL AR 0 0 1 1 " 12 12 12 17 10 7 8 5 4 3
2% px0von—v 0 0 0 0 8 13 6 6 7 10 4 2 0 2 1
R RRRE 0 0 0 4 14 15 12 13 5 6 5 3 1 0 0
BRI TIOTRELIE 0 0 0 20 47 45 47 32 29 17 2 6 2 0 1
T |TERANIRZT AV RABRRSE 0 0 0 3 8 16 18 19 1 13 5 5 5 2 4
0% |0y on—v 0 0 1 3 10 9 7 5 7 2 5 1 1 0 0
R RRRE 0 0 0 6 13 19 10 16 7 5 3 1 2 0 2
HRITIOTRELE 0 0 0 21 63 45 35 34 22 16 8 5 4 3 1
70 [HEBANILARRD AL RABRE 0 0 0 4 12 18 27 22 12 17 7 10 3 6 18
T REIDTA—T 1 0 0 2 8 9 5 5 5 5 4 1 3 2 1
R RRRE 0 0 0 2 7 14 8 9 6 3 2 2 0 2 0
HRITIOTRELE 0 0 0 26 47 48 29 20 22 17 1" 6 6 2 2

a0 [EBANILARZD AL AR 0 0 0 2 17 14 23 17 13 1 13 1 4 5 1
2F \pxqvon—< 0 0 0 1 8 8 10 8 3 1 4 5 2 2 2
R RRRE 0 0 0 5 14 16 1 0 13 5 1 3 8 0 0
HRITIOTRELE 0 0 0 22 79 59 25 24 13 15 1" 2 2 1 0

50 [HEBANILRRD A )L RABRE 0 0 0 4 15 16 17 14 18 9 12 16 7 3 8
3F lpxovon—v 0 0 0 2 9 7 9 4 4 1 0 1 2 1 3
R RRRE 0 0 0 3 12 17 10 7 9 4 0 0 2 0 0
BRI SSIDT B 0 0 0 22 72 53 34 25 18 8 13 5 1 1 0

i [IEBEANLARD AL RERAE 0 1 0 5 12 26 13 15 17 11 13 3 2 1 10
“F lazarvn— 0 0 0 3 16 3 3 2 0 2 3 2 0 1 3
HEBRE 0 0 0 7 18 19 12 10 5 5 4 0 0 1 0
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